MULTIPLICATION: NEGATIVE DECIMAL NUMBERS (H - SET 2)

CHALLENGE Hame:

Time: Score:
510 6 X 3.15 = 200 —0.11 x (=34.7) =
512 —0.0001 x (—0.0473) = 520 (0.3 X 2.04 =
513 —(0.5 x 33.3 = 28) —1.1 x 0.46 =
514)0.0004 x 0.0032 = 5290 (0.001 x 123 =
515 —0.001 x (—0.044) = 530) - 0.0002 X 38.2 =
5160 9 % 0.013 = 530 0.003 x 35.3 =
a1 7 x (—2.41) = 52 —0.1 x 21 =
515 —0.005 X 2.97 = 33 —0.03 x (—0.312) =
519) —7 % 11.2 = 530 —(0.004 x 0.464 =
5200 (.6 X 469 = 535 —(0.0006 x 85 =
21 —2 x (—0.0007) = 536 —0.6 X (—=3.7) =
522) - (0.006 x 0.0236 = 537 —0.009 x 40.7 =
25 0.001 x 4.95 = w —1 % (=0.63) =
20 0.009 x (—0.341) = 59 —0.001 x 3.5 =
529 —11 x 1.01 = 10 0.2 x (—0.0429) =

Mathematics: Multiplication - Level 7 - Horizontal - Set 2 19 ® workulum.com


https://www.workulum.com

